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goboboobooooooobooooobobooooooboooboooboooobboooooboobooboOoooboboooooon
goboboboooooooboooobooboooooobobooobooooooobboooooboboobooooboboooooo
gobooooooooooobooooooboboboooobooooobbooooobobooooobboooooDo
gooooboboooobooooooobooooboooobooooooooobobooobooooboboooobObOooDbo
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gooooooooooooooooooOOOOOOOO0OoOCoOoOOOOOOOOOOOOoboboODODOOOO
ooooooooooooo

8.1.1 URAMEELIZ
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0000D0000D000000D00000 (inked list D0 0000000000000 O(ink0000D0O00OO
000000000000000000000000000 (hede)000000000000D0O0S8.11000000
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00000000000 10000000000000

00000000000 D00D00D000000000 00000 0oooog
00000000000 0000000000000 Dmmm‘ %Ol 00000 000000
000000000000000000000 200000 \44% DDDDD‘ZN |
0 000000000000000000000 LT ?
ooooo

ooooO0 oooooo

0 0oooooooooooooooooo

gooc ‘ nil |
0 0ddodoooooooooooooboooo
210000
oooooogao
goooooooooooooboooooooboo 081l OOOOO
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osboooooono

pooooooooooooooOoOoDbOOoOO0oOoo0oOooooOoOOOOOOoOoOoOoooboOODDOOOOOOoO
O0000000o0oooooooo
gooooooooooboooooooooobobObOOb0obOooooooooOoOoOOObOOoOo0oooooooOooOoboon
cooooOO0OO0oOoO0oooooooooOobObObOb0O0o0o0OoOooooOooOOObOO0000ooooOooOObOO00000
oooooooooOoOoOObOOOOOOOOOOO0s1AO0O0O0OOOOOOZ0O000000000022000000
00000 AU0O0OO0O000O000000000000000000O0O0BHOOOOO0O0O0O0O021000000
tboobooooooaoos3goooooooooooooooo
gooooooooooooooooooOoOOOOOOOOOOoOOOOOOOOOOOOOObOOODODOO
cooooooooooooooooOoOoOOOO0OOO0O0OOoOOOOOObOOOOOOOOOOODODOOOOOOn
obooooooooooooooooooooooooooooboDo

8.1.2 BCSEBREEHRK
gooboobooboooboooboooobooboobooboboooDoooDbooboobooobooooono
gobodbooobooooboobodbooobooobooboboobboobooboobOoooDoooo
(self-referential structure) D 0 0000
JoooooooooooobooooooooboooooooooooooooDoboo0lggoooooo

typedef struct node {
int data; /* 000 */
struct node *point; /* 0000 */
} NODE;

O00O0data000000D0Opeint0000000COCOCCCOCOOOOONdeC0OOODODODDDOODOOO
O000000000Ostruct node * JO0O0O0O0O0O0OOnoce00000O0OOOODOOOOODDOOOODO
goboogboooboodopE 0O O0O0OOOOO0ODODOOODODOOODOOODOOODOOODOOOD
0000000000000 000000000000000000000000O0O(cel000OOOOOOOO
000001000 (node)0 000000

gopboooooooooooobooooooboboooobooooDbbooobDoboooOoDboooLobD
gobooopboooobooooobooboo
W (BERRA 5 EH)->(BER A 2 /Y)

gobobooboooooboobo

(oooooo).oooo)
goboooobobooboobooooobobooooboboobobobbooboboobobobooboo
gboboobooboobooog

(Dobooooooon)-s@woono)
gbooooboboobooboboooboobooooboboobobobboobDoboobDoboboobooo
gbobooooboooooboobobobobobooor200ooooooobO

gboboooobooooooobooooon

struct node *spl, *sp2;
ooboooobooooooobooooboooon

spl->data
ooboooboooooooo

spl->point = sp2;

158



83 0O0OO0OOOO

gooooooog

A AT DENRIEER

000o0o0oo000ooO000OO000OoO0O0OU0O0OO0U0OO0O0D0COOO0D0ODODOOOOOOOOOOD
00000o000o0O00o0O0ooO00O0000O0o00O000o00Oo0o0ODOO0DoO0D0Oo0oUOooooooooo
0000000000000 00000000000000000000000000O000O00000 (dynamic
memory allocation)0 00000

O00000000000000000000CO000malloc()0000O00O0O0O0O0O0OO0O0OCOOOO
0000000000000 000000000D0000000000OD free()0OOOODOOOOODOOOOO
O0000OC++00newd delete0 000000000000 OODOOOOO

malloc()UOOOOOO0O0OOOO0OOOCOOOOOOO0ODOOOOOsize tOOOOOODOOOOODOOOO
oooooooooooono

sp2 = (NODE *)malloc ( sizeof (NODE)) ;

oooooog

size tO00000OOOsizeof operator type D000 Osizeof 0000000000000 OODOODOODOO
goo0O0OlongDOO0D0OO0OONoDEDODODOOOODOOODOOODOOOODODOOODDODOOODDOOUODDOOODO
Oo0odO00ONoDE0 00O0ODDOO0ODODOOO0O0OODOO0OODODOOsp20000000000000O00O00O00O00O
JooboodoooooooobooooboobooobooooooooooosoooooooboDooobooooa
160 00000000000000000000000000000000000000 (cluster size)d0O000
oooooooo

00000o000o000o0o0oOo0oo0o0o0o0CoO0oOo00O0D0OoO00obOO0oooOoooOoOooUoOD
00o00o0o0ooO0oOU0ooO0O0oOO0o00O0OO00O00ODO0ObOO0DO0O0O0OOUOOOObODOOoOoOO
000000000000 (memory leak) DODODDO0OO00D00O00Dfree()DDODODODDO0DOODODOOODOO
oooooooOoooooooooo

free( sp2 );

ooooooo

8.3 EENDDFEY

083100000000000000000000000D00D000000OON (singly linkedlis)0O00000O1
goboooooooooooobobooooooboboOooobooobooooobbooobobboboooobboooooo
gbbodobodbbbOheadbobbooobbooboboOoobobo0oobbO0b0obOOoOoboOoOODo

goboooooooobooooooboooooobobooboooboobooooboOobo0oobooOoOobOooobOoooooon
gooboboooooooboooobobooooooboboooobooooooobbobooboboobOoooboOoooooo
gooooboooobooboooooboobooooboooo

ooooooog nil
ooooo oooo
DDDD"—’——lDDDD"—'——lDDDDM

0831 OO00OO0ODOD

head

T

ooo D‘
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8.3.1 ANIEDNY R b hend

000000000000000000000000000000
ooooooo
{Guams8)
IR RN AN NfcT—5%, ABDIEICU R MIERKRLUIERT S.
0000000 D0DD0O00000s832000000000000000O
0000000000000 000000000000Oooooooonon 1832 ODOOOOOO000
0000 head000000000000OReaddDD0DOD0DOODODONO

ocooooooooooooOooOoOoODOOD10DOOOOOOOOOOOOOO0OO0OOO0OO0OO0O0O0O000000000
booooooooooooooooooooooboOoNwLLO0OOOOOODOOOOOO0OOO

head = (NODE *)malloc ( sizeof (NODE) ); /+* OOOO * /

head->data = (UOOOOOODO) /* 00000 */

head->next = NULL; /* 0000000000 =/
ggo

NULLOOOOOooooodNvnLngoooooobooooobooboooboooobooooboobonbooo
O0000D000D<stdio.h>000000000O000O0OO0OOO0ODOOODOOODOOOOODODOUODOODO
O0nil0O00O0O0OODOOOOOOODOO

gobo0o0obooOoooo0oooOooboooooboooooDooboo

prev = head; /* 0000 */
goboo0ooooobo0oooooo0oooooo0oooOoo00oDOoOo0oOooDoOoDO0ooDOOoOOooo
gobooooooboobooooboobooboooboobbbz2bb0oo0oooOoboobOo0obooOboOoDbobog2o

gobooobooooobooooooboooooboooooodNLL0gooooooog

new = (NODE *)malloc ( sizeof (NODE) ); /* OOOOOOO */
new->data = (0O00O0OOOOO); /* 00000 */
new->next = NULL; /* 0O0000Ooooog /
prev-snext = new; /* 000000 */

oooooooooooooooooooooooooooOoOOODOOOOOOOn
B J7O0J54-UZ b
gooooobooooooooooboooooooon

83.10000000000000000000000
goooooooooooog s

print_list( yoopooooooooooooooo &head = 22feec head = a040c70 data= 1
000000000000000000000000 oooooooDoooood > 3
prev= 0xa040c70 curr= 0xa040c80 data= 3
Joooooboboooooooobobboooooo O0O0O0ooOO0oOoooood - s
oooooooooooono prev= 0xa040c80 curr= 0xa040c90 data= 5
goooooOooooooDooo s 4
ooooooooooooooooooooooo prev= 0xa040c90 curr= 0xa040cal data= 4
0000000000 head000000O0OOOOOO e
prev= 0xa040cal0 curr= 0xa040cb0 data= 2
Jd0oooooboooboooboooododNuLLOdd 00000000000000 > “D
000000 00b00O00Ohead000O0OoOooOLO ooooooooooo
ooo0d0oooooooobooooooooooo pointer= 0xa040c70 next= 0xa040c80 data= 1
pointer= 0xa040c80 next= 0xa040c90 data= 3
noooooooood prevD oobooooouon pointer= 0xa040c90 next= 0xa040ca0 data= 5
Ogoo0oo0oo0oo0oo0oooooooooooon pointer= 0xa040cal next= 0xa040cb0 data= 4
pointer= 0xa040cb0 next= 0x0 data= 2

ooboO0oooboboboboooooooooo
0000000000000 OO0OO0O0OGCODOO 0833 0000O0DOOCOOO
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